Research Article



Received: 08/09/2023

Accepted: 10/12/2023

Published: 31/12/2023

Lesson Study's Effect on Math Teacher Candidates' Attitudes, Self-Efficacy, and Teaching Anxiety*

Zeynep Boyacı¹, Gürcü Erdamar Koç²

Boyacı, Z., & Erdamar Koç, G. (2023). Lesson study's effect on math teacher candidates' attitudes, self-efficacy, and teaching anxiety. *Asian Journal of Instruction*, *11*(2), 23-42. Doi: 10.47215/aji.1353516

Abstract

This study aims to examine the effects of the lesson study model on the attitudes, self-efficacy, and math teaching anxiety of math teacher candidates. A pre- and post-test control group quasi-experimental design was utilized with a quantitative research framework. The study group consisted of a total of 14 teacher candidates (seven in the experimental group and seven in the control group), who were senior-level undergraduate students taking the "Teaching Practice" course in the pedagogical formation group of the Faculty of Education at Düzce University during the fall semester of the educational year 2019-2020. Data collection was performed using the Attitude Toward the Teaching Profession Scale, Teacher Self-Efficacy Scale, and Math Teaching Anxiety Scale. Non-parametric tests, specifically the Mann Whitney U and Wilcoxon Signed-Rank tests, were employed for data analysis. The results achieved in this study indicate that the lesson study model used in the teaching practice course positively affected the attitudes towards the teaching profession and teacher self-efficacy perceptions of math teacher candidates, as well as reducing math teaching anxiety.

Keywords: Attitude towards teaching profession, lesson study, self-efficacy, teaching anxiety

1. Introduction

The success and sustainability of schools depend on the extent, to which they achieve their educational objectives. Teachers play a very important role in the educational and instructional processes within a school, carrying substantial accountability for their outcomes. They serve as facilitators in various aspects, including implementing curriculum, organizing educational activities, ensuring instructional effectiveness, and fostering student engagement. The qualification of teachers in developing and conducting instructional processes plays a vital role in the quality of the education of individuals, who are the future of our society (Seferoğlu, 2004; Şişman, 2009).

It is very important to develop teacher self-efficacy beliefs, which are associated with student success and becoming a qualified teacher. Bandura (1997) defined self-efficacy as the confidence to successfully execute a particular task or occupation. Teacher self-efficacy, on the

^{*} This paper is compiled from the first author's doctoral dissertation.

¹ Research Assistant, Düzce University, 0000-0001-5278-9822, <u>zeyneparseven@duzce.edu.tr</u>

² Prof. Dr., Gazi University, 0000-0001-6753-0151, gurkoc@gazi.edu.tr

other hand, refers to a teacher's confidence in their teaching-related abilities (Schunk, 2009). From this aspect, teacher self-efficacy includes confidence in the mastery to identify effective teaching strategies, manage the classroom and promote student engagement, and plan and implement the necessary activities to enhance student achievement. Teacher's high perception of their self-efficacy can lead to their confidence in their teaching abilities and reflect on their behaviors. Furthermore, as indicated by Tschannen-Moran and Hoy (2001), a positive self-efficacy perception can positively influence different areas, such as classroom management and adoption of new methods and techniques by the teacher. All of these factors can have a positive effect on students. A teacher's self-efficacy belief affects the quality of instruction, the methods and techniques used, students' participation in learning, and the students' understanding of the material; therefore, it determines the academic success of students (Kiremit, 2006).

Teachers' professional success might be related to their professional attitudes, as well as their self-efficacy beliefs (Demirtaş, Cömert & Özer, 2011). Attitudes are significant attributes that affect teachers' impact on students' learning (Küçükahmet, 2003). Exhibiting a positive attitude towards the teaching profession will make teachers more effective in instruction (Erdem, Gezer & Çokadar, 2005). Teachers' professional attitudes have direct effects on their classroom behaviors and practices (Demirtaş, Cömert & Özer, 2011). These attitudes affect their commitment, the importance they pay to teaching, and their potential success in this field. Ocak (2005) and Üstüner (2006) emphasized the importance of teachers having a genuine passion for and dedication to their profession, along with the competence to educate students.

In order to enhance the professional success of teachers, it is necessary not only to improve their professional attitudes and self-efficacy beliefs but also to reduce their teaching anxiety. Teaching anxiety refers to concerns regarding instructional activities during lesson preparation and delivery (Gardner & Leak, 1994). Overcoming negative attitudes and fears during lesson preparation and delivery is essential for effective teaching, and teaching anxiety is often considered a primary concern (Sarı & Aksoy, 2016). Therefore, reducing teachers' anxiety levels before entering the profession is very important for the quality of teaching (Liu, 2008; Peker, 2006). Teacher's self-efficacy perception serves a pivotal role in alleviating teaching-related anxieties. Teachers with high self-efficacy perceptions tend to invest more effort in resolving teaching-related issues (Tschannen-Moran, Woolfolk Hoy & Hoy, 1998).

In various studies, it was found that teacher candidates' attitudes toward the profession are at moderate (Saracoğlu et al., 2004; Kartal & Afacan, 2012) and insufficient (Oral, 2004; Şahin & Şahin, 2017) levels, and their self-efficacy is not at the expected level (Şahin & Şahin, 2017). Teacher candidates, regardless of their knowledge, reported that they experience anxiety during the teaching practice process about what to say and how to behave in the classroom (Kuran, 2009; Peker, 2009). A teacher candidate's teacher self-efficacy, attitudes toward the profession, and teaching anxieties influence the quality of teaching. To enhance the quality of teaching, it is essential to train teachers with the necessary knowledge, skills, and attitudes before service. The teacher training process plays a very important role in ensuring that teacher candidates have the desired qualifications (Kozikoğlu & Senemoğlu, 2018).

The teaching practice course in teacher education can be considered a course, in which teacher candidates can develop the knowledge, skills, and attitudes that are required to have the desired qualifications. This course, which enables the transformation of theoretical knowledge into practice, significantly affects the professional development of teacher candidates (Wagler, 2007). However, previous studies indicate that the teaching practice course is insufficient in transforming theoretical knowledge into practice (Şahin & Özkılıç, 2005). Ineffectiveness in teaching practice might result in teacher candidates lacking sufficient knowledge and skills in areas such as lesson planning, communication with students, material usage, time management,

and motivation (Tok, 2010). This, in turn, negatively affects teacher candidates' teacher selfefficacy, attitudes toward the profession, and teaching anxieties. Interactive and collaborative teaching approaches were found to increase the self-efficacy of teacher candidates (Bümen & Özaydın, 2013; Clift & Brady, 2005) and reduce teaching anxieties (Deringöl, 2018). It was emphasized in a study carried out by Şahin and Şahin (2017) that in-class and non-class practices of teacher candidates can contribute to their attitudes toward the profession and selfefficacy. Similarly, Turan and Asal (2020) suggested in their study that collaborative practices in teacher training practice courses could reduce the anxieties of teacher candidates during the teaching process. In the context of teacher education, one of the collaborative approaches developed to put into practice the knowledge and skills acquired by teacher candidates is the lesson study model.

The lesson study model, which was developed in Japan during the late 19th century, is a widely accepted professional development model aiming to improve teaching through collaborative analysis and revision of in-class practices by teachers (Fernandez & Yoshida, 2004; Stigler & Hiebert, 1999). As per Fernandez and Yoshida (2004), the lesson study model consists of several phases. These phases include preparing the research lesson, executing the research lesson, deliberating on the research lesson, refining the research lesson, potentially reimplementing the improved research lesson, and exchanging reflections on the final iteration. During the first phase of the study lesson, educators develop customized lesson plans that align with specific learning objectives. The plan aims not only to achieve effective teaching but also to enhance student understanding (Stigler & Hiebert, 1999). Before initiating lesson planning, educators establish a study plan outlining the observation procedure and the data collection methodology (Lewis, 2002). At the phase of executing the research lesson, a teacher selected from the group has the responsibility of leading the planned lesson, and the remaining members of the group play the observer role, taking notes or recording class videos. It is essential to emphasize that the primary objective here is not to analyze or criticize the teacher's performance but to comprehend how a lesson plan collaboratively influences students' comprehension and knowledge. The ultimate objective is to identify ways to improve the effectiveness of the learning process. During the discussion and development stage of the research lesson, participants gather to share observation notes. After the presentation of the instructing teacher, other members of the group state their opinions and offer their perspectives and recommendations about the instructional process. Following collective assessments, the necessary revisions are made to the lesson plan. After the development stage of the research lesson, another group member can implement the revised lesson plan when needed. In the cycle of lesson study, it is rare to revise the lesson plan for the same topic for the third time as the program progresses (Fernandez & Yoshida, 2004).

The primary objective of lesson study is not to deliver a flawless lecture; instead, it offers teachers opportunities to improve their teaching practices. Teacher candidates gain experience in developing effective teaching strategies and enhancing classroom performance by learning cooperative working methods through this model. As reported by Verhoef, Tall, Coenders, and Smaalen (2013), teachers actively contribute to enhancing the curriculum, instructional materials, teaching methodologies, and students' learning experience by implementing lesson study. Lesson study, focusing on lesson planning and having the ability to observe and evaluate the shortcomings in the teaching process, helps teacher candidates become aware of their own development (Aykan & Kıncal, 2016). Multiple local and international studies confirmed that lesson study plays a significant role in the professional development of teachers. It was shown to improve their skills in lesson planning, improve their teaching knowledge, deepen their understanding of students, facilitate the integration of theory and practice, foster critical thinking abilities, increase teaching effectiveness, support self-efficacy perceptions, and promote collaborative learning (Ayantaş, 2019; Baki, 2012; Bayram, 2018; Budak, 2012;

Bütün, 2012; Cumhur, 2016; Doğan & Altun, 2018; Fernandez, 2005; Fernandez & Zilliox, 2011; Gözel, Erdem & Toptaş, 2020; Hiebert, Morris, Berk & Jansen, 2007; Özaltun Çelik & Bukova Güzel, 2017; Özen, 2015; Sibbald, 2009; Sims & Walsh, 2009).

It is thought that enabling teacher candidates to analyze and improve their in-class practices through the lesson study model could positively contribute to their teacher self-efficacy and professional attitudes while also reducing teaching anxieties. Previous studies also indicated a direct link between teacher candidates' attitudes toward the profession of teaching and their professional development within the lesson study framework. In the literature, there are studies highlighting the positive effect of lesson study on teachers' professional attitudes (Budak, 2012; Kandemir, 2018; Lee, 2008; Puchner & Taylor, 2006; Tepylo, 2008). The number of studies carried out on the effect of lesson study on teacher self-efficacy (Budak, 2012; Kandemir, 2018; Puchner & Taylor, 2006; Sibbald, 2009) and teaching anxieties (Mihajlović & Milikić, 2018) is limited, and it makes this study valuable in terms of its contribution to the field. Examining the literature, it can be seen that there is no study examining the attitudes, self-efficacy, and concerns of prospective teachers regarding the lesson study model together in Türkiye. The majority of previous studies related to lesson study were carried out in the field of mathematics education, with teachers, at the middle school level, and by using qualitative research methods (Aykan & Kıncal, 2016; Gülhan, 2021; Solgun & Çapuk, 2022). Therefore, this study, which was carried out at the high school level by using quantitative methods and involving teacher candidates, aims to contribute to the literature. The research problem is: "What is the effect of the lesson study model on the attitudes towards the teaching profession, levels of teaching anxiety, and self-efficacy among mathematics teacher candidates?" The research encompasses several sub-problems, which are outlined below:

- > Does the lesson study model create a significant difference in the professional attitudes of mathematics teacher candidates before and after the implementation?
- Does the lesson study model create a significant difference in the self-efficacy beliefs of mathematics teacher candidates before and after the implementation?
- Does the lesson study model create a significant difference in the teaching anxieties of mathematics teacher candidates before and after the implementation?

2. Method

2.1. Research Design

The present study uses a quantitative method and a quasi-experimental design with a pre-test, post-test, and control group. The quasi-experimental design, in which individuals selected for experimental and control groups were not randomly assigned, but measurements were taken on existing groups, was utilized to measure the effectiveness of a variable (Karasar, 2014; Ekiz, 2016). The experimental design used in this work is shown in Table 1.

Table 1

Research Design

Groups	Pre-Test	Intervention	Post-Test
Euronimontal	TPAS*		TPAS
Experimental Group	TSES**	Lesson Study Model	TSES
	MTAS***	-	MTAS
	TPAS		TPAS
Control Group	TSES	Existing Practice	TSES
	MTAS	-	MTAS

*Teacher Profession Attitude Scale (TPAS) /**Teacher Self-Efficacy Scale (TSES) / ***Math Teaching Anxiety Scale (MTAS)

As can be seen in Table 1, the teaching practice course was conducted with the lesson study model for the experimental group, while the existing practice continued for the control group.

2.2. Study Group

The study group consists of 4th-year undergraduate students who took the "Teaching Practice" course in the pedagogical formation group of the Faculty of Education at a university in northwestern Türkiye during the fall semester of the educational year 2019-2020. The present study was carried out using a sample size of 14 candidate teachers, with seven participants assigned to the experimental group and seven to the control group. All teacher candidates were 22 years old. Teacher candidates participating in the teaching practice course were divided into groups of four by the faculty practice coordination since they visit application schools in groups due to the nature of the course. The number of teacher candidates in the groups is suitable for the research since the collaborative teaching processes are planned with groups of three-six people (Lewis, 2002). Two of these groups are randomly selected as the control group, and the other two as the experimental group. Each group has a different supervising teacher.

To examine the equivalence of the groups before the experimental procedure, each teacher candidate from both groups was asked to prepare a two-hour lesson plan on the same learning outcome, which performs calculations related to the cartesian product of two sets and was then evaluated using a lesson plan rubric. Then, four experts in educational sciences and one subject-specific education expert were consulted in order to assess the validity of the lesson plan rubric developed to measure the scores on creating lesson plans. Agreement among different raters was assessed to ensure the reliability of the rubric. The homogeneity of teacher candidates in terms of their overall GPA, grades in pedagogical formation courses, and scores on lesson plan preparation was tested by using Mann Whitney U test. The results are presented in Table 2.

Table 2

Equivalence Criteria	Group	n	Rank Mean	Sum of Ranks	U	Z	р
Overall GPA	Experimental	7	7.07	49.50	21.500	385	.710
Overall OFA	Control	7	7.93	55.50	21.300	365	.710
Grades in Pedagogical	Experimental	7	6.93	48.50	20.500	514	.620
Formation	Control	7	8.07	56.50	20.300	314	.020
Scores in Lesson Plan	Experimental	7	7.21	50.50	22.500	258	.805
Preparation	Control	7	7.79	54.50	22.300	238	.005

Mann Whitney U Test Results for Experimental and Control Group Equivalence

As can be seen in Table 2, there was no statistically significant difference between the experimental and control groups of teacher candidates in terms of their overall undergraduate GPAs, the grades they received from pedagogical formation courses, and their scores on the lesson plan preparation (p>0.05). Considering these results, it can be stated that teacher candidates are comparable in terms of their overall undergraduate GPAs, grades from pedagogical formation courses, and scores on lesson plan preparation.

2.3. Data Collection Instruments

2.3.1. Teacher Attitude Scale Toward the Teaching Profession

This study employs Üstüner's (2006) attitude scale to measure the attitudes of high school mathematics teachers toward their teaching profession. The robustness of the scale was

confirmed by a Kaiser-Meyer-Olkin (0.91) and a Bartlett test score (7835.194). Factor analysis showed that the scale encompasses a total of 34 items, demonstrating a unidimensional structure. High scores on this scale suggest a positive attitude towards teaching, while lower scores indicate a less favorable perspective. The scale was found to have a reliability coefficient of 0.72 and an internal consistency of 0.93, and its validity was found to be 0.89 (Üstüner, 2006). In the present study, the Cronbach's Alpha internal consistency coefficient was calculated to be 0.84, signifying its reliability (Büyüköztürk, 2021).

2.3.2. Teacher Self-Efficacy Scale

This study employed the "Teacher Self-Efficacy Scale" initially developed by Tschannen-Moran and Hoy (2001) and adapted into Turkish by Çapa, Çakıroğlu, and Sarıkaya (2005) to assess the self-efficacy levels of high school mathematics teacher candidates. The scale consists of 24 items scored using a Likert-type scale, which ranges between 1 (representing low confidence) and 9 (representing strong confidence) points. It has three subscales. The first subscale, "Fostering Student Engagement", assesses teachers' confidence in motivating students to succeed in school activities. The second subscale, "Classroom Management", evaluates teachers' ability to control classroom behavior effectively. Finally, the third subscale "Teaching Strategies" measures teachers' confidence in effectively employing various assessments and teaching strategies. The total score on this scale ranges between 24 and 216 points. Reliability analysis yielded robust results, with Cronbach's Alpha coefficients of 0.82 for "Fostering Student Engagement", 0.84 for "Classroom Management", 0.86 for "Teaching Strategies", and an impressive overall scale reliability of 0.93. Confirmatory factor analysis, a test of construct validity, produced a TLI value of 0.97, indicating a sound fit. Additional fit indices, including RMSEA, fell within the acceptable range, with a value of 0.65 (Browne & Cudeck, 1993). In the context of this research, the Cronbach's Alpha values for the subscales were 0.86, 0.87, and 0.90, respectively, and the overall scale reliability was 0.95. Thus, given these results, it can be stated that the scale is reliable (Büyüköztürk, 2021).

2.3.3. Math Teaching Anxiety Scale

The scale was initially developed by Liu in 2016 and then modified for the Turkish language by Aytekin, Türkmenoğlu, and Arıkan (2017). This scale was analyzed using exploratory and confirmatory factor analyses in this study. Considering the analysis results, the Turkish-adapted scale contains four subscales and 13 items, rated on a five-point Likert scale. The subscales of the scale are as follows: "teaching anxiety originating from one's knowledge of the subject matter (consisting of 4 items)", "teaching anxiety associated with the grasp of concepts (comprising 3 items)", "teaching anxiety arising from the curriculum (comprising 3 items)" and "teaching anxiety specific to a particular subject (comprising 3 items)". These factors are also present in the original scale. The Cronbach's Alpha coefficients were reported to be 0.84 for the total scale and 0.83, 0.78, 0.77, and 0.72 for the subscales, respectively. Confirmatory factor analysis was conducted to test construct validity; x²/sd ratio was found to be 1.727, AGFI to be 0.91, CFI to be 0.97, and RFI to be 0.93, which meet the criteria for a good fit. Other fit indices, such as RMSEA = 0.053, SRMR = 0.053, GFI = 0.94, NNFI = 0.96, and NFI = 0.94, also fall within the acceptable fit criteria. For this research, Cronbach's Alpha value was determined to be 0.89, and subscale reliability values were found to be 0.81, 0.78, 0.77, and 0.72, respectively. It can be concluded that this scale's questions are both valid and reliable (Büyüköztürk, 2021; Kline, 2011).

2.4. Data Collection

Due to the nature of the teaching practice course, teacher candidates in the experimental and control groups were divided into groups. The data collection instruments used in the present study were administered to teacher candidates in both the experimental and control groups before the application. At the end of the application, the data collection instruments were re-administered to teacher candidates in both the experimental and control groups. The pre-test data were collected by the researcher in October 2019. The post-test data, on the other hand, were collected by the researcher in January 2020 when the lesson study cycles were completed.

2.5. Implementation Process

This study was conducted between October 2019 and January 2020 and was carried out by the researcher during the teaching practice course. In the experimental group, the first four weeks of the 14-week teaching practice course were spent observing the supervising teacher at the practice schools. Then, the teaching practice course was conducted using the lesson study model. Throughout the implementation process, the phases of the lesson study model, which was integrated into the teaching practice course for the experimental group, are as follows:

- Teacher candidates were provided with a seminar on how to prepare lesson plans for two class hours. Sample lesson plans were examined, and they were instructed to prepare their lesson plans accordingly.
- During the subsequent week, detailed information about the lesson study model, one of the professional development models, was provided to the teacher candidates. The stages and implementation of the model were explained. (Figure 1). Sample research studies on the lesson study model were presented, and any questions from teacher candidates about the model were addressed. Moreover, teacher candidates filled out a form to determine their willingness to participate in this study.
- Throughout the semester, seven cycles of lesson study were completed with both groups of teacher candidates. Each teacher candidate led at least four lessons. In both groups, lesson study was completed with teacher candidates in stages including planning, the first research lesson, analyzing and revising the first research lesson, the second research lesson, analyzing and revising the second research lesson, and finalizing the plan.
- Each lesson study cycle begins with planning the learning outcomes to be covered during the week. These cycles were conducted using outcomes from the 9th and 11thgrade mathematics curricula. The outcomes were determined in collaboration with the supervising teacher, considering the semester plan. In the prepared lesson plans, efforts were made to incorporate methods that encourage active student participation. In the lesson plans, activities such as stations, puzzles, matching games, bingo, group work, and intellectual games were prepared aiming to draw the student's interest and enhance participation in the class.
- Before the first research lesson, planning preparations were conducted sequentially, starting with individual efforts, followed by collaborative endeavors among teacher candidates, and ultimately involving a group with the researcher in the university setting. The final version of the lesson plan was given to the teacher candidate, who would conduct the research lesson.
- During the first research lesson conducted by a teacher candidate, fellow group members, the researcher, and the mentor teacher observed and documented the proceedings. As a result of these observations, challenges encountered during the first research lesson, such as difficulties in time management, practical implementation issues, instructional problems, and classroom management issues, were collectively

discussed by the group members and the researcher. Subsequently, adjustments to the lesson plan for the second research lesson were deliberated upon, and modifications were made to enhance its effectiveness.

- The modified plan was used by a different teacher candidate for the second research lesson, and similar stages as the first research lesson were repeated. After the second research lesson, group members and researchers held a meeting again to discuss potential changes if the lesson were to be taught again, and the final version of the lesson plan was determined.
- The researcher made an effort to observe a significant portion of the research lessons in the experimental group.



Figure 1. Lesson Study Cycle

In the control group, the teaching practice was conducted by the researcher in accordance with the course content. Teacher candidates enrolled in classroom practice in selected schools for six hours per week, every week. Moreover, to evaluate this practice, the candidates attended classes conducted by the instructor supervising the practice (YÖK, 1998). Similar to the experimental group, teacher candidates in the control group spent the initial four weeks of the 14-week teaching practice course observing the supervising teacher at the practice schools. Then, they continued with the practical requirements of the teaching practice. The teacher candidates in the control group held a meeting once a week at the university to discuss their practical experiences and receive feedback. The researcher observed the teaching processes of each teacher candidate in the control group a minimum of once and a maximum of two times.

2.6. Data Analysis

Data analysis was carried out by using SPSS software (Version 25). The Shapiro-Wilk test was utilized to assess the conformity to a Gaussian distribution. Considering the small sample size in this study, it was concluded that the data deviated from a Gaussian distribution. Therefore, to determine if there were differences between groups, the non-parametric Mann-Whitney U test was utilized, whereas the Wilcoxon Signed-Rank test was used for evaluating intragroup differences. The Mann-Whitney U test is utilized to analyze if there is a significant disparity between the results of two independent samples, whereas the Wilcoxon Signed-Rank test is

used to assess whether there is a significant difference between the scores of two dependent samples (Büyüköztürk, 2021).

2.7. Ethics

In this study, all rules stated in the directive of Scientific Research and Publication Ethics of Higher Education Institutions were followed. Ethics committee permission was obtained from the Ethics Committee of the Institute of Educational Science of Gazi University (date: 07.23.2020 and number: 91610558-302.08.01).

3. RESULTS

The effect of the lesson study used in the teaching practice course on teacher candidates' attitudes toward the teaching profession, self-efficacy beliefs, and teaching anxiety variables was examined.

3.1. Effect of the Lesson Study on Teacher Candidates' Attitudes toward the Teaching Profession

The results of the Mann-Whitney U test, which was used to assess if there was a significant difference between teacher candidates' pre- and post-test outcomes on their attitudes towards the teaching profession scale, are presented in Table 3 for all groups.

Table 3

Mann-Whitney U Test Results for Teacher Candidates' Attitudes towards the Teaching Profession Scale

Test Type	Group	n	Rank Mean	Rank Sum	U	Z	р
Pre-Test	Experimental	7	7.43	52.00	24.000	064	.949
Pie-Test	Control 7 7.57		7.57	53.00	24.000	064	.949
Post-Test	Experimental	7	10.86	76.00	1.000	-3.003	.03
Post-Test	Control	7	4.14	29.00	1.000	-5.005	.05

As seen in Table 3, it was determined that there was no statistically significant difference between teacher candidates' pre-test results in both groups regarding their attitude scale towards the profession of teaching (z=-0.064, p=0.949). Therefore, it can be concluded that the attitude scores of teacher candidates in the experimental and control groups were similar before the beginning of this study. However, given the post-test results, there was a major disparity favoring the experimental group regarding the attitude scale toward the teaching profession (z=-3.003, p=0.03). This result indicates that, after the implementation of the lesson study model, teacher candidates in the experimental group exhibited higher levels of professional attitudes than their counterparts in the control group.

To assess the effect of the lesson study model implemented during the teaching practice course on teacher candidates' attitudes in both groups, the pre-test and post-test results regarding their attitudes toward the profession were compared by using the Wilcoxon Signed-Ranks Test. The detailed results can be found in Table 4.

Table 4

Wilcoxon Signed-Ranks Test Results for Pre-Test and Post-Test Scores of Teacher Candidates' Attitudes Toward the Teaching Profession Scale

Group	Post-test – Pre-test	n	Rank Average	Total Rank	Z	Р
	Negative	-				
Experimental	Positive	7	4.00	28.00	-2.384	.017
	Tie	-				
	Negative	1	1.50	1.50		
Control	Positive	5	3.90	19.50	-1.903	.057
	Tie	1				

The results shown in Table 4 revealed a statistically significant difference (p<0.05) between the pre-test and post-test results of individuals in the experimental group, who are pursuing a career in teaching, particularly regarding their perceptions of the teaching profession. After further examination of the rank sums and rank average scores, it was determined that there was a difference favoring the post-test scores.

In contrast, there was no statistically significant difference between pre-test and post-test scores in the control group regarding their attitudes toward the teaching profession (p>0.05). The results achieved here clearly indicate that implementing the lesson study model during the teaching practice course positively affects the attitudes of aspiring mathematics teachers toward the teaching profession.

3.2. The Effects of the Lesson Study on the Teacher Self-Efficacy of Teacher Candidates

The Mann-Whitney U test was used to evaluate the statistical significance of differences between the pre-test and post-test scores of the teacher candidates in both the experimental and control groups on the teacher self-efficacy scale and its sub-dimensions. The results of this analysis are presented in Table 5.

Table 5

Test Type	Scale and Sub- Dimensions	Group	n	Rank Mean	Rank Sum	U	Z	р
	Teacher Self-	Experimental	7	8.93	62.50	14.500	-1.291	.209
	Efficacy Total	Control	7	6.07	42.50	14.300	-1.291	.209
	Student	Experimental	7	7.21	50.50	22 500	266	905
Pre-	Participation	Control	7	7.79	54.50	22.500	266	.805
Test	Classroom	Experimental	7	8.43	59.00	18.000	854	.456
	Management	Control	7	6.57	46.00	18.000	834	.430
	Instructional	Experimental	7	8.71	61.00	16 000	1 1 1 2	210
	Strategies	Control	7	6.29	44,00	16.000	-1.113	.318
	Teacher Self-	Experimental	7	11.00	77.00	0.000	2 1 2 0	.001
	Efficacy Total	Control	7	4.00	28.00	0.000	-3.130	.001
	Student	Experimental	7	11.00	77.00	0.000	2 1 5 1	.001
Post-	Participation	Control	7	4.00	28,00	0.000	-3.151	.001
Test	Classroom	Experimental	7	11.00	77.00	0.000	-3.151	.001
	Management	Control	7	4.00	28.00	0.000	-5.151	.001
	Instructional	Experimental	7	11.00	77.00	0.000	-3.148	.001
	Strategies	Control	7	4.00	28.00	0.000	-3.148	.001

Results of the Mann-Whitney U Test Regarding Teacher Candidates' Teacher Self-Efficacy Scale and its Sub-Dimensions

As seen in Table 5, it was determined that there was no statistically significant difference between the pre-test scores of the teacher candidates in the experimental and control groups on the Teacher Self-Efficacy Scale and its sub-dimensions (p>0.05). This result suggests that the teacher candidates in both groups had comparable scores on the teacher self-efficacy measure and its sub-dimensions before the beginning of the study. Examining the post-test scores of the teacher self-efficacy scale and its sub-dimensions for both groups, a statistically significant difference favoring the experimental group was found (p>0.05). Results suggest that using cooperative learning strategies significantly improved teacher candidates' self-efficacy and scores on the various sub-dimensions in the scale.

The Wilcoxon Signed-Ranks test was employed when comparing pre-test and post-test scores in the experimental and control groups to evaluate the effect of cooperative learning in the teaching practice course on the teacher candidates' teacher self-efficacy scale and its subdimensions. The results are presented in Table 6.

Table 6

Group	Scale and Sub- Dimensions	Post-test Pre-test	n	Mean Rank	Sum of Ranks	Z	р
Experimental	Teacher Self- Efficacy Total	Negative Positive Tie	- 7 -	4.00	28.00	-2.371	.018
	Ensuring Student Participation	Negative Positive Tie	- 7	4.00	28.00	-2.371	.018
	Classroom Management	Negative Positive Tie	- 7 -	4.00	28.00	-2.375	.018
	Instructional Strategies	Negative Positive Tie	- 7 -	4.00	28.00	-2.366	.018
	Teacher Self- Efficacy Total	Negative Positive Tie	3 3 1	3.33 3.67	10.00 11.00	105	.916
	Ensuring Student Participation	Negative Positive Tie	5 - 2	3.00	15.00	-2.070	.038
Control	Classroom Management	Negative Positive Tie	3 4 -	2.83 4.88	8.50 19.50	933	.351
	Instructional Strategies	Negative Positive Tie	2 4 1	1.50 4.50	3.00 18.00	-1.577	.115

Wilcoxon Signed-Ranks Test Results of Pre-Test and Post-Test Scores of Teacher Candidates' Teacher Self-Efficacy Scale and its Sub-Dimensions

Considering the results shown in Table 6, there was a statistically significant difference between the pre-test and post-test scores of the experimental group, specifically in relation to the self-efficacy scale and its sub-dimensions (p<0.05). Examining the total and mean scores, the difference favors the post-test results. In the control group, no significant difference was found between pre-test and post-test scores on the self-efficacy scale and its sub-dimensions, except for the sub-dimension of ensuring student participation (p>0.05). The negative difference in the sub-dimension of ensuring student participation in the control group may stem from failures in

capturing students' attention during the course. In the control group, no significant difference was observed between pre-test and post-test scores on the self-efficacy scale and its subdimensions, except for the sub-dimension of ensuring student participation (p>0.05). The negative difference in the sub-dimension of ensuring student participation in the control group may stem from failures in capturing students' attention during the course. The results achieved here suggest that the implementation of lesson study positively affected the self-efficacy of mathematics teacher candidates and might be considered a valuable model across several subdimensions.

3.3. Effect of Lesson Study on Math Teaching Anxiety

The results of the Mann-Whitney U test are provided in Table 7. These results were examined to determine if there is a statistically significant difference between the pre-test and post-test scores on the math teaching anxiety scale, as well as its sub-dimensions, among all groups of teacher candidates.

Table 7

Mann W Sub-Din	5 0	or Teacher Candidates' Ma	th Teaching Anxiety Scale and its
Test	Seels and Sub	Maan	Sum of

Test	Scale and Sub-	Group	n	Mean	Sum of	U	Z	р
Туре	dimensions	Oloup		Rank	Ranks	e	2	Р
	Total Math Teaching	Experimental	7	7.64	53.50	23.500	129	.902
	Anxiety	Control	7	7.36	51.50	23.300	129	.902
	Anxiety due to	Experimental	7	7.86	55.00	22.000	323	805
	Content Knowledge	Control	7	7.14	50.00	22.000	323	.805
Pre-	Conceptual	Experimental	7	7.71	54.00	23.000	109	002
Test	Understanding	Control	7	7.29	51.00	25.000	198	.902
	Curriculum-related	Experimental	7	4.07	28.50	21 500	401	710
	Anxiety	Control	7	10.93	76.50	21.500	421	.710
	Domain-Specific	Experimental	7	8.00	56.00	21.000	428	.710
	Anxiety	Control	7	7.00	49.00	21.000	428	./10
	Total Math Teaching	Experimental	7	4.00	28.00	.000	-3.137	.001
	Anxiety	Control	7	11.00	77.00	.000	-5.157	.001
	Anxiety due to	Experimental	7	4.00	28.00	000	-3.155	.001
	Content Knowledge	Control	7	11.00	77.00	.000	-5.155	.001
Post-	Conceptual	Experimental	7	4.00	28.00	.000	-3.165	.001
Test	Understanding	Control	7	11.00	77.00	.000	-5.105	.001
	Curriculum-Related	Experimental	7	4.07	28.50	.500	-3.122	.001
	Anxiety	Control	7	10.93	76.50	.300	-3.122	.001
	Domain-specific	Experimental	7	4.00	28.00	.000	-3.180	.001
	Anxiety	Control	7	11.00	77.00	.000	-5.160	.001

As seen in Table 7, it was found that there was no statistically significant difference in the pretest results of teacher candidates in both groups regarding the math teaching anxiety scale and its relevant sub-dimensions (p>0.05). Hence, this suggests that the teacher candidates in both the experimental and control groups had comparable levels of math teaching anxiety before the beginning of the research. After analyzing the post-test results of the teacher candidates in both groups, particularly focusing on math teaching anxiety and subsequent sub-dimensions, it is clear that the experimental group had significantly reduced anxiety levels when compared to the control group (p<0.05). The results achieved here suggest that the incorporation of lesson study had beneficial effects in reducing math teaching anxiety among the teacher candidates in the experimental group.

In order to determine the differences in scores between teacher candidates in two groups regarding their levels of anxiety related to teaching mathematics, as measured by the math teaching anxiety scale and its sub-dimensions, the pre-test and post-test results of the teacher candidates were analyzed using the Wilcoxon Signed-Ranks test. The findings of this test are presented in Table 8.

Table 8

Group	Scale and Sub-	Post-test –	n	Mean	Total	7	n
Gloup	Dimensions	Pre-test	п	Rank	Rank	z -2.375 -2.392 -2.410 -2.388 -2.392 -1.761 -1.342 -1,656 -1,633	р
		Negative	7	4.00	28.00		
	MTA Total	Positive	-			-2.375	.018
		Tie	-				
	V 1. 1	Negative	7	4.00	28.00		
		Positive	-			-2.392	.017
	Related	Tie	-				
	$\begin{tabular}{ c c c c c c } \hline Dimensions & Pre-test & n & Rank & Rank \\ \hline Negative & 7 & 4.00 & 28.00 \\ \hline MTA Total & Positive & - & -2. \\ \hline Tie & - & & & & & & & & & & & & & & & & & $						
Experimental			-			-2.410	,016
Experimental	Understanding	Tie	-				
	Commission	Negative	7	4.00	28.00		
		Positive	-			-2.388	.017
		Tie	-				
	Field-specific	Negative	7	4.00	28.00		
		Positive	-			-2.392	.017
		Tie	-				
		Negative	1	1.00	1.00		
	MTA Total		4	3.50	14.00	-1.761	.078
$\begin{tabular}{ c c c c } \hline Iie & Iie & Negative & Positive & Iie & Negative & Field-specific & Positive & Iie & Negative & Iie &$		Tie	2				
	Negative	2	1.50	3.00			
			-			-1.342	.180
	Related	Tie	5				
	Convert of	Negative	4	3.38	13.50		
Control			1	1.50	1.50	-1,656	.098
	Understanding	Tie	2				
	Commission	Negative	3	2.00	6.00		
			-			-1,633	.102
	Related	Tie	4				
		Negative	3	2.67	8.00		
	Field-specific		1	2.00	2.00	-1.134	.257
	-	Tie	3				

Wilcoxon Signed Ranks Test Results for Pre-test and Post-test Scores of Teacher Candidates on the Math Teaching Anxiety Scale and its Sub-Dimensions

Examining the results presented in Table 8, it was determined that there is a significant difference between the results of the experimental group's math teaching anxiety scale and its sub-dimensions, both before and after the intervention (p<0.05). Analyzing the mean and total scores, it was found that the difference favors post-test scores. In contrast, the control groups' pre-test and post-test score differences do not show any significant difference (p>0.05). Therefore, it can be concluded that the lesson study implemented during the teaching practice

course effectively reduced the math teaching anxiety of the participants in the experimental group.

4. Discussion and Conclusion

This study aimed to assess how the implementation of lesson study affected the attitudes regarding the profession of education, teacher self-efficacy, and math teaching anxiety among mathematics teacher candidates. This objective was achieved by using a semi-experimental approach. Before the experimental intervention, the results indicated no statistically significant difference in attitudes toward the teaching profession between experimental and control groups. However, following the implementation of experimental intervention, it was determined that there was a statistically significant difference favoring the experimental group. In other words, it can be concluded that the lesson study model positively affects future teachers' attitudes toward the education profession when compared to traditional practices. The literature review also reveals that lesson study contributes to the teaching profession (Budak et al., 2011; Lee, 2008; Puchner & Taylor, 2006) and positively affects the attitudes of teachers, including teacher candidates (Günay et al., 2016; Kandemir, 2018; Kıncal & Beypınar, 2015; Ogegbo et al., 2019; Şahin & Kılıç, 2020). Thanks to its contribution to teacher candidates' professional development, lesson study also contributes to their professional attitudes. Teachers' attitudes toward their profession shape their approach, student interaction, classroom environment, and instructional strategies (Güneyli & Aslan, 2009). Therefore, developing positive attitudes is essential for teacher candidates to effectively fulfill their teaching responsibilities.

The results achieved in this study indicate that, in comparison to the control group, the experimental group exhibits a significantly higher level of self-efficacy. Thus, the use of the lesson study model in the teaching practice course had a beneficial impact on the self-efficacy of mathematics teacher candidates. The levels of teacher self-efficacy of the teacher candidates were at a moderate level before the experimental process, and they increased after the process. Similar studies carried out with teachers also indicated that lesson study enhanced teacher self-efficacy (Budak, 2012; Ogegbo et al., 2019; Roberts, 2010; Yılmaz Doğan, 2018). The inclusion of direct classroom applications of lesson study enables teacher candidates to observe and provide feedback to others, allowing them to revise and implement lessons, thereby providing an opportunity for the professional development of teacher candidates. Professional experience is one of the primary factors shaping the self-efficacy (Bandura, 1997). Therefore, it can be concluded that the lesson study is quite beneficial in terms of self-efficacy for teacher candidates.

Teacher candidates may encounter challenges in classroom management, time management, communication, and selecting appropriate teaching strategies while implementing lesson plans in the teaching practice course (Bay et al., 2020; Taşdere, 2014). The results achieved in the experimental group suggest a significant improvement favoring the post-test regarding student engagement, teaching strategies, and classroom management. Using the lesson study model significantly contributes to developing teacher candidates' abilities to facilitate student engagement, choose effective teaching strategies, and refine classroom management skills. Similarly, it was reported in the study carried out by Yılmaz Doğan (2018) on teachers by using the lesson study model that there was a significant increase in self-efficacy scores in student engagement and teaching strategies dimensions, but not in the classroom management dimension. In a study carried out by Ayra (2021) with teachers, it was found that the implementation of lesson study in instruction had a positive effect on classroom management skills. Hence, it can be stated that integrating the lesson study approach into the teaching practice course increases the self-efficacy of teacher candidates. This contribution might originate from the various experiences gained through lesson study, such as collaboratively

discussing and rectifying lesson plans and addressing deficiencies in teaching practices during the planning and post-lesson discussion stages.

Another result achieved in this study shows that individuals in the experimental group experienced decreased anxiety in teaching math when compared to the control group. Subdimensions of the scale contain anxiety associated with subject knowledge, conceptual understanding, curriculum-related concerns, and concerns related to the subject matter. Teacher candidates might experience anxiety about math teaching due to deficiencies in classroom experience or subject-specific training. In a study carried out with teachers, it was also reported that collaboration among teachers in lesson study contributes to the development of teachers' subject knowledge (Ayra, 2021). Similarly, in another study, it was concluded that lesson study enhances teacher candidates' knowledge related to the curriculum (Koçak, Soylu & Hayat, 2021). The experimental group demonstrated significant and positive differences across all sub-dimensions of the scale. Collaboratively planning lessons through lesson study necessitates an in-depth understanding of the subject and anticipating potential misconceptions and difficulties that students might face. In this context, it can be concluded that implementing lesson study model on the experimental group within the teaching practice course yields more efficacy in reducing math teaching anxiety among teacher candidates.

Considering the analysis results, it can be stated that implementing the lesson study model has a beneficial influence on individuals' attitudes toward the teaching profession and perceived effectiveness in the teaching practice lectures. Moreover, this technique also contributes to decreasing math teaching anxieties. Hence, lesson study can be considered a functional and effective technique in implementing the teaching practice course.

The results achieved in this study suggest the following recommendations:

- Given the collaborative nature of the lesson study model, the stages of the lesson study cycle can be more effectively executed when carried out with teachers or teacher candidates, who can communicate comfortably with each other.
- The time-consuming nature of the meetings and the challenges in finding meeting places during the implementation can be mitigated by supporting them with online meetings.
- Since lesson study is conducted within the context of a teacher training course, it is recommended to use the same grade level for the lessons and revision lessons to facilitate their smooth execution by teacher candidates.
- Considering the positive effect of the results achieved here on teacher candidates, the teacher training course can be conducted using the lesson study model.
- The lesson study model implemented in the teacher training course can also be applied in different undergraduate programs and courses, thereby contributing to the teaching skills of teacher candidates.
- > This study with teacher candidates can also be conducted with teachers.
- In this study, besides a positive increase in teacher candidates' attitudes toward the teaching profession and their perceptions of self-efficacy, there was also a decrease in teaching anxiety. This quantitatively conducted research can be enriched with in-depth qualitative findings.

References

- Ayantaş, T. (2019). Lesson study practice in the development of professional teaching knowledge of pre-service teachers of social studies (Unpublished master thesis). Ankara University, Ankara.
- Aykan, A., & Kıncal, R. Y. (2016). A content analysis of scientific researches about lesson study published in different countries. *Journal of Kazım Karabekir Education Faculty*, 32, 19-31.
- Ayra, M. (2021). The effect of lesson study professional development and students' academic achievement (Unpublished doctoral dissertation). Amasya University, Amasya.
- Aytekin, C., Türkmenoğlu, H., & Arıkan, N. (2017). Adaptation of Math and Science Teaching Anxiety (MSTA) Scale to Turkish. *Journal of Ahi Evran University Kirsehir Education Faculty*, 18(3), 155-170.
- Baki, M. (2012). Investigating development of prospective primary teachers' mathematical pedagogical content knowledge: Lesson study (Unpublished doctoral dissertation). Karadeniz Technical University, Trabzon.
- Bandura, A. (1997). Self-efficacy: The exercise of control. New York: Freeman.
- Bay, D. N., Şeker, P. T., & Alisinanoğlu, F. (2020). Pre-service teachers' opinions about teaching practice course. Anadolu University Journal of Education Faculty, 4(1), 1-20. https://doi.org/10.34056/aujef.625497
- Bayram, İ. (2018). Lesson study: A professional development model led by prep school English teachers (Unpublished doctoral dissertation). Ankara University, Ankara.
- Browne, M. W., & Cudeck, R. (1993). Alternative ways of assessing model fit. In K. A. Bollen & J. S. Long (Eds.), *Testing structural equation models (p. 136-162)*. Newbury Park, CA: Sage.
- Budak, A. (2012). Mathematics teachers' engaging in a lesson study at virtual settings. *Educational Research and Reviews*, 7(15), 338-343. https://doi.org/10.5897/ERR12.018
- Budak, İ., Budak, A., Kaygın, B., & Bozkurt, İ. (2011). A lesson study implementation with pre-service mathematics teachers. *Education Sciences*, 6(2), 1606-1617.
- Bümen, N. T., & Özaydın, T. E. (2013). Changes on teacher self-efficacy and attitudes towards teaching profession from candidacy to induction. *Education and Science*, 38(169), 109-125.
- Bütün, M. (2012). The development of pedagogical knowledge of preservice mathematics teachers in the process of applied enriched program (Unpublished doctoral dissertation). Karadeniz Technical University, Trabzon.
- Büyüköztürk, Ş. (2021). Sosyal bilimler için veri analizi el kitabı (29. Baskı) [Handbook of data analysis for social sciences (29th edition)]. Ankara: Pegem A.
- Clift, R. T., & Brady, P. (2005). Research on methods courses and field experiences. *In M. Cochran-Smith, & K. M. Zeichner (Eds.), Studying teacher education: The report of the AERA panel on research and teacher education, (p. 309–424).* Mahwah, NJ: Lawrence Erlbaum Associates.
- Cumhur, F. (2016). *Examination development of pre-service mathematics' questioning behaviours: A lesson study* (Unpublished doctoral dissertation). Karadeniz Technical University, Trabzon.

- Çapa, Y. Çakıroğlu, J., & Sarıkaya, H. (2005). The development and validation of a Turkish version of the teachers' sense of efficacy scale. *Education and Science*. *30*(137), 74–81.
- Demirtaş, H., Cömert, M., & Özer, N. (2011). Pre-service teachers' self-efficacy beliefs and attitudes towards profession. *Education and Science*, *36*(159), 96-111.
- Deringöl, Y. (2018). An examination of the math teaching efficacy and the math teaching anxiety of classroom teacher candidates. *Journal of Theoretical Educational Science*, 11(2), 261-278. https://doi.org/10.30831/akukeg.364483
- Doğan, Z. Y., & Altun, S. (2018). The effect of the study lesson study (RLS) Model on teachers' professional development. *International Online Journal of Educational Sciences*, 10(3), 215-229. https://doi.org/10.15345/iojes.2018.03.014
- Ekiz, D. (2016). Bilimsel araştırma yöntemleri (21b.) [Scientific research methods (21st ed.)]. Ankara: Ani Publishing.
- Eraslan, A. (2008). Japanese lesson study: Can it work in Türkiye? *Education and Science*, 33(149), 62-67.
- Erdem, A. R., Gezer, K., & Çokadar, H. (2005). Anxieties, academic motivation levels and competencies at teaching profession of students at secondary education fields teaching nonthesis master program. *In XIV. National Educational Sciences Congress Book Volume I* (*p. 471-477*). Denizli: Pamukkale University.
- Fernandez, C., & Yoshida, M. (2004). *Lesson study: A Japanese approach to improving math teaching and learning*. Mahwah, NJ: Lawrence Erlbaum Associates.
- Fernandez, M. L. (2005). Exploring "lesson study" in teacher preparation. *International Group* for the Psychology of Mathematics Education, 2, 305-312.
- Fernandez, M. L., & Zilliox, J. (2011). Investigating approaches to lesson study in prospective mathematics teacher education. *Lesson study research and practice in mathematics education: Learning together*, 85-102. https://doi.org/10.1007/978-90-481-9941-9_7
- Gardner, L. E., & Leak, G. K. (1994). Characteristics and correlates of teaching anxiety among college psychology teachers. *Teaching of Psychology*, 21(1), 28-32. https://doi.org/10.1207/s15328023top2101_5
- Gözel, E., Erdem, A. R., & Toptaş, V. (2020). The effect of lesson study on class teachers' problem solving and posing behaviours. *Journal of Education, Theory and Practical Research*, 6(1), 16-34.
- Gülhan, F. (2021). How is the lesson study model implemented in Türkiye, what does it mean?: A systematic review. *Karaelmas Journal of Educational Sciences*, 9(2), 230-242.
- Günay, R., Yücel-Toy, B., & Bahadır, E. (2016). Lesson study model in teacher education and a proposal toward preservice teaching practices in Türkiye. *Journal of International Social Research*, 9(42), 1224-1237.
- Güneyli, A., & Aslan, C. (2009). Evaluation of Turkish prospective teachers' attitudes towards teaching profession. *Procedia Social and Behavioral Sciences*, 1, 313-319. https://doi.org/10.1016/j.sbspro.2009.01.059
- Hiebert, J., Morris, A. K., Berk, D., & Jansen, A. (2007). Preparing teachers to learn from teaching. Journal of Teacher Education, 58(1), 47-61. https://doi.org/10.1177/0022487106295726
- Kandemir, E. M. (2018). An application to improve teaching skills of classroom teachers: Lesson study (Unpublished doctoral dissertation). Pamukkale University, Denizli.

- Karasar, N. (2014). Bilimsel araştırma yöntemi [Scientific research method]. Ankara: Nobel Publishing.
- Kartal, T. & Afacan, Ö. (2012). Examining attitudes of prospective teachers who took pedagogical formation education towards teaching profession. *Mehmet Akif Ersoy University Journal of Education Faculty*, 1(24), 76-96.
- Kıncal, R., & Beypinar, D. (2015). The Effects of "Lesson Study" Implementation to Professional Development of Mathematics Teachers and Development of Learning Process. *Mehmet Akif Ersoy University Journal of Education Faculty*, 1(33), 186-210.
- Kiremit, H. (2006). *Preservice science teachers' self-efficacy beliefs in teaching biology* (Unpublished doctoral dissertation). Dokuz Eylül University, Izmir.
- Kline, R. B. (2011). *Principles and practice of structural equation modeling*. New York: The Guilford Press.
- Kozikoğlu, İ., & Senemoğlu, N. (2018). Development of teacher perceptions scale for competency of pre-service education: A study on validity and reliability. YYU Journal of Education Faculty, 15(1), 552-576.
- Kocaarslan, M. (2014). Analysis of prospective teachers' attitudes towards teaching as a profession. *Asian Journal of Instruction*, 2(1), 46-55.
- Koçak, M., Soylu, Y., & Hayat, F. (2021). Examining development prospective mathematics teachers measurement and evaluation knowledge and curriculum knowledge through lesson study method. *Kastamonu Education Journal*, 29(5), 856-871. https://doi.org/10.24106/kefdergi.706619
- Kuran, K. (2009). The effect of micro teaching on teachers' gaining of knowledge and skills. *Mustafa Kemal University Journal of Social Sciences Institute*, 6(11), 383-400.
- Küçükahmet, L. (2003). Öğretimi planlama ve değerlendirme [Instructional planning and evaluation]. Ankara: Nobel Publishing.
- Lee, J. F. (2008). A Hong Kong case of lesson study- Benefits and concerns. *Teaching and Teacher Education*, 24(5), 1115-1124. https://doi.org/10.1016/j.tate.2007.10.007
- Lewis, C. (2002). *Lesson study: A handbook of teacher-led instructional change*. Philadelphia: Research for Better Schools.
- Liu, F. (2008). Impact of online discussion on elementary teacher candidates' anxiety towards teaching mathematics. *Education*, 128(4), 614-629.
- Liu, F. (2016). Anxiety towards teaching mathematics and science: Correlation, prevalence, and intensity. *Journal of Mathematics Education*, 9(1), 29-46.
- Mihajlović, A. M., & Milikić, M. (2018). The impact of lesson study on pre-service kindergarten teachers' math teaching anxiety. In E. Kopas-Vukašinović & J. Lepičnik-Vodopivec (Eds.) Innovative teaching models in the system of university education: Opportunities, challenges and dilemmas (p.107-119). Jagodina, Koper.
- Ocak, G. (2005). Meslek olarak öğretmenlik. Öğretmenlik mesleğine giriş [Teaching as a profession. Entry into the teaching profession (Ed. Kadir Keskinkılıç). Ankara: Pegem.
- Ogegbo, A. A., Gaigher, E., & Salagaram, T. (2019). Benefits and challenges of lesson study: A case of teaching Physical Sciences in South Africa. South African Journal of Education, 39(1), 1-9. https://doi.org/10.15700/saje.v39n1a1680

- Oral B. (2004). Eğitim fakültesi öğrencilerinin öğretmenlik mesleğine ilişkin tutumları [Attitudes of education faculty studies towards the teaching profession]. *Eurasian Journal of Educational Research*, 15, 88-98.
- Özaltun Çelik, A., & Bukova Güzel, E. (2017). The mathematics teachers' lesson plan related to teaching radical expressions during the lesson study. *Mersin University Journal of the Faculty of Education*, *13*(2), 561-594. https://doi.org/10.17860/mersinefd.336744
- Özen, D. (2015). Development of geometric thinking of elementary school mathematics teachers: A lesson study (Unpublished doctoral dissertation). Anadolu University, Eskischir.
- Peker, M. (2006). The development of math teaching anxiety scale. *Journal of Education Science and Practice*, 5(9), 73-92.
- Peker, M. (2009). Pre-service mathematics teacher perspectives about the expanded microteaching experiences. *Journal of Turkish Educational Science*, 7(2), 353-376. https://doi.org/10.12973/ejmste/75284
- Puchner, L., & Taylor, A. (2006). Lesson study, collaboration, and teacher efficacy: Stories from two school based mat lesson study groups. *Teaching and Teacher education*, 22(7), 922-934. https://doi.org/10.1016/j.tate.2006.04.011
- Roberts, M. R. (2010). Lesson study: Professional development and its impact on science teacher self-efficacy (Unpublished doctoral dissertation). Columbia University, NY.
- Saracaloğlu A.S., Bozkurt N., Serin O., Serin U. (2004). Öğretmen adaylarının mesleğe yönelik tutumlarını etkileyen faktörler [The factors that affects the attitudes of the candidate teachers towards teaching profession]. *Çağdaş Eğitim Dergisi [Journal of Contemporary Education]*, 29 (311), 16-27.
- Sarı, M. H., & Aksoy, N. C. (2016). The relationship between math teaching anxiety and teaching style of primary school teachers. *Turkish Studies -International Periodical for the Languages, Literature and History of Turkish or Turkic, 11*(3), 1953-1968.
- Seferoğlu, S. S. (2004). Öğretmen yeterlikleri ve mesleki gelişim [Teacher competencies and professional development]. *Bilim ve Aklın Aydınlığında Eğitim[Education in the Light of Science and Mind]*, 58, 40-45.
- Sibbald, T. (2009). The relationship between lesson study and self-efficacy. *School Science and Mathematics*, 109(8), 450-460. https://doi.org/10.1111/j.1949-8594.2009.tb18292.x
- Sims, L., & Walsh, D. (2009). Lesson study with preservice teachers: Lessons from lessons. *Teaching and teacher education*, 25(5), 724-733.
- Solgun, Y., & Çapuk, S. (2022). A literature review on the application of the lesson study model in math teaching. *In Proceeding Book of XII. International Conference on Social Research and Behavioral Sciences*, 202.
- Stigler, J., & Hiebert, J. (1999). The teaching gap. New York: The Free Press.
- Schunk, D. H. (2009). Öğrenme teorileri: Eğitimsel bir bakışla [Learning theories : From an educational perspective] (Translation from the 5th Edition). (Trans. Ed. Muzaffer Şahin). Ankara: Nobel Publishing.
- Şahin, Ş., & Kılıç, A. (2020). Evaluation of the teaching practice course carried out with the lesson study model. *Tuning Journal for Higher Education*, 8(1), 99-127. https://doi.org/10.18543/tjhe-8(1)-2020pp99-127

- Şahin, E. & Özkılıç, R. (2005). The opinions of preschool teacher candidates about the practice guide prepared for practice courses. *Gazi University Journal of Gazi Education Faculty*, 25(2), 115-133.
- Şahin, C., & Şahin, S. (2017). Teacher candidates' attitudes towards the teaching profession, their self-efficacy beliefs and their level of knowing the student. *The Journal of Turkish Educational Science*, 15(2), 224-238.
- Şişman, M. (2009). Teacher's Competencies: A Modern Discourse and the Rhetoric. Inonu University Journal of the Faculty of Education, 10(3), 63-82.
- Taşdere, A. (2014). Classroom teacher candidates' problems regarding teaching practicum class and proposed solutions. *Turkish Studies-International Periodical for the Languages, Literature and History of Turkish or Turkic, 9*(2), 1477-1497.
- Tepylo, D. R. H. (2008). Investigating the effects of lesson study. University of Toronto.
- Tok, Ş. (2010). The problems of teacher candidates about teaching skills during teaching practice. *Procedia Social and Behavioral Sciences*, 2, 4142–4146.
- Tschannen-Moran, M., Woolfolk-Hoy, A., & Hoy, W. K. (1998). Teacher efficacy: Its meaning and measure. *Review of Educational Research*, 68(2), 202-248. https://doi.org/10.3102/00346543068002202
- Tschannen-Moran, M., & Woolfolk-Hoy, A. W. (2001). Teacher efficacy: Capturing an elusive construct. *Teaching and Teacher Education*, 17(7), 783-805. https://doi.org/10.1016/S0742-051X(01)00036-1
- Turan, B. N., & Asal, R. (2020). Anxiety levels of elementary school teacher candidates for math teaching according to different variables. *Erciyes Journal of Education*, 4(1), 20-33. https://doi.org/10.32433/eje.629442
- Üstüner, M. (2006). Reliability and validity study of an attitude scale of teaching profession. *Educational Administration: Theory and Practice*, 45(45), 109-127.
- Wagler, R. R. (2007). Assessing the impact of vicarious experiences on preservice elementary science teacher efficacy and preservice elementary teacher efficacy. Oklahoma State University.
- Verhoef, N., Tall, D., Coenders, F., & Van Smaalen, D. (2013). The complexities of a lesson study in a Dutch situation: Mathematics teacher learning. *International Journal of Science and Mathematics Education*, 12(4), 859-881. https://doi.org/10.1007/s10763-013-9436-6
- Yılmaz Doğan, Z. (2018). The investigation of variations of study lesson study model in teachers' professional development, the perception of teachers' self-efficacy and self-regulation skills of learners (Unpublished doctoral dissertation). Yıldız Technical University, Istanbul.
- Yüksek Öğretim Kurulu (1998), *Fakülte-Okul İşbirliği [Faculty-school collaboration]*. Ankara: Higher Education Council Publications.

Ethics Committee Permission:

In this study all rules were followed stated in the directive of Scientific Research and Publication Ethics of Higher Education Institutions. Ethics committee permission of this study is taken with the decision of the Ethics Committee of the Institute of Educational Science of Gazi University, dated 23.07.2020 and numbered 91610558-302.08.01.